Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY

Summer Examination-2022

Subject Name: Software Engineering

Subject Code: 2TEO4SEE1 Branch: Diploma (CE)
Semester: 4 Date: 06/05/2022 Time: 11:00 To 02:00 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions. (14)
a) SDLC stands for
A) Software Development Life Cycle
B) System Development Life Cycle
C) Software Design Life Cycle D) System Design Life Cycle
b) COCOMO stands for

A) Consumed Cost Model B) Constructive Cost Model

C) Common Control Model D) Composition Cost Model.
c) Software Requirement Specification (SRS) is also known as specification

of

A) White Box Testing B) Acceptance Testing

C) Integrated Testing D) Black Box Testing
d) RAD stands for .
A) Relative Application Development
B) Rapid Application Development
C) Rapid Application Document
D) Relative Application Document
e) is the process of determining whether the output of one phase
of software development conforms to that of its previous phase.
A) Verification B) Validation C) Authentication D) Authorization
f) is the process of determining whether a fully developed
system conforms to its requirements specification.
A) Verification B) Validation C) Authentication D) Authorization
g) The spiral model was originally proposed by :
A) IBM B) Barry Boehm  C) Pressman D) Royce
h) Quality Management in software engineering is also known as

A) SQM B) SQA C) SDL D) SOP
i) is the study and an application of engineering to the design,
development and maintenance of software.
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A) Software Programming B) Software Planning
C) Software Engineering D) Software Testing
Spiral Model has user involvement in all its phases.

A) True B) False

Unit testing is done by .
A) Users B) Developers C) Customers D) None
What is the major drawback of the Spiral Model?

A) Higher amount of risk analysis

B) Doesn't work well for smaller projects

C) Additional functionalities are added later on

D) Strong approval and documentation control

Full form of LOC is

A) Line of Code B) Length of Code

C) Line of Control D) None of The Above
Boundary value analysis belongs to
A) Black Box Testing

C) Yellow Box Testing

B) White Box Testing
D) Green Box Testing

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-7

Q-8

a)
b)

a)
b)

Attempt all questions

Explain waterfall model in detail with suitable diagram.
Write a note on COCOMO model.

Attempt all questions

Write a note on black box testing.

Write a note on white box testing.

Attempt all questions

Draw use case diagram for inventory management system.

Draw activity diagram for college management system.
Attempt all questions

What is cohesion? Explain classification of cohesion in detail.
What is coupling? Explain classification of coupling in detail.

Attempt all questions
Write characteristics of software maintenance.

Write a note on software quality management system.

Attempt all questions
Explain various types of software maintenance.

Write down steps to explain project size estimation and project cost
estimation.

Attempt all questions

Explain SRS model in detail with example.

Write down difference between Function oriented and Object oriented
design.

(14)
(07)
(07)
(14)
(07)
(07)
(14)
(07)
(07)
(14)
(07)
(07)
(14)
(07)
(07)
(14)
(07)

(07)
(14)

(07)
(07)
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Q-1

a)

b)

c)

d)

f)

9)

h)

)

k)

Attempt the following questions. (14)
SDLC ol ¢l 8.

A) A2 AR SdcUNee LSS AlASAH

B) ReH (sl ciot Us

C) W2 AR BBt Aless UBsA D) RreH [SBL8et Alss UBSEH
COCOMO A2& .

A) 550315 sle HISE B) so25dlcl Slke HlsA

C) slHat $2lct s D) SLLA(Bet Sle Hlsc

A2 AR RscllaNoe AR(EZ2At (SRS) A ol 2UEL5R0L 313 uaL
Bl aclHl w1 8,

A) cslese ollsd 2REaL B) AUA WA 2Rl

C) 8e3l2s 2Rl D) 6As cllsd 2REaL

RAD oll el aA Y.

A) RARc AlW@3alet 3actuNee  B) s AAZ et ScAdUNR

C) 2Ms ARAZ2Uat SlsyNoe D) RARc A Aot S5 N2

A atssl scllell YBAL B 3 Ws2AR dccdUNRall WS dolssla] WUB2Ye
Aotl HOUGell AUSSIA AUg3U B 5 FU,
A) ARG¥aet  B)AlAdaet  C) AAGR¥2AA D) AR RL2Let
A RQuUlRd sclell Ylsau & ¥ 9 Ayel [AsRd Rreu Asll vlaausdl
AUEL500A Waf3U B,
A) ARG3et  B)AlA32Aet  C) AWARIAt D) AR 312Ut

AUERA HIsAH HA3 SR YRAQ A scUHl wR] &,

A) IBM B) A3 cldnH C) YNt D) AU

As2 AR WeBA2UFoHl $AAE RA%Aee A N ERVEEMIGUTESTRITH
wA B,

A) SQM B) SQA C) SDL D) SOP

A As2 ARl (351850t (AstH WA Rl 12 AERRUB A we2g11
Wal AAZ Ut B.

A) Als2AR Yool B) W2 AR lllolat

C) A2 AR AR D) As2AR 2RIl

AUBRA HSEA Aotl dAHIH AesSRAHL cuRlasdlell Aslarll uad .
A) 1Y B) Wl

Yl 2R3t GLRL SRAHL AA B,

A) GR3R B) 3dcUR C) 52HR D) 5\&5 o8l

AUsA Wdctoll Yyt vl 9 ©2
A) S (Aol ay 1
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B) olloll U152 HI2 AL A 51 s otell
C) atlpAetl staAl wevn el GRReHl wWd 8
D) 16| 133l A £xcllA%$W [A2{2aL
LOC of Y@l 2a13u R
A) ALt W S1S

C) Aot 3§ 52 A

Al yeu QA i ®.
A) 6As ollsy SRl

C) A ollsd 2RIl

B) Aol 3% 515

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-6

Q-7

Q-8

a)
b)

a)
b)

a)
b)

a)
b)

a)
b)

a)
b)

a)
b)

Attempt all questions

A28l WsAa 2001 vs(A A [Qotcatr AHostAl.

COCOMO HI3A UR o[t (UL
Attempt all questions

oAs Gls™ RSO UR ol G
alese olst 2RZL UR olltd WL,
Attempt all questions

ooz 3| NalorNloz RRRH M2 YA 3 SI2AUH ERL.

5lA% Aoz ReH 1R AsdlE] stawaun €12,
Attempt all questions

5132301 9] B? 8l3ete] cld((520L (Adld R Al

su(dat 9 &2 suldolej cd(lswl (Qotd el UMl
Attempt all questions

A5 AR ABezolotloll AULARS AN AVl

As2AR sAAE AABA e @2 H UR ol Aull.

Attempt all questions
As2AR ABoeolooll (AU YsIA AHA.

YIBse A3 AR AU A YIRS Slke ARS At UH st clell HIS UILARD UL,

Attempt all questions
SRS IS GELSNL AL (Aotctell’ UHestal.

$590ol AU RFAoe S W WoBse WA oS (SRBLet ARAA dAsleld UL

D) GURsAHIU A& o8l

B) € olls 2REaL
D) oflet cllsu 2RIl
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(07)

(14)
(07)

(07)

(14)
(07)

(07)

(14)
(07)

(07)

(14)
(07)

(07)

(14)
(07)

(07)

(14)
(07)

(07)
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